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Time, Speed & Distance

1. A person crosses a 600 m long street in 5

minutes, What is his speed in km per hour?

,d O;fÙkQ 600 ehVj yach lM+d dks 5 feuV esa ikj djrk
gS] fdeh çfr ?kaVs esa mldh xfr D;k gS\
(a) 3.6 (b) 7.2

(c) 8.4 (d) 10

2. The speed of a car increases by 2 kms after

every one hour. If the distance travelling in

the first one hour was 35 kms. what was the

total distance travelled in 12 hours?

,d dkj dh xfr çR;sd ,d ?kaVs ds ckn 2 fdeh c<+
tkrh gSA ;fn igys ,d ?kaVs esa r; dh xbZ nwjh 35 fdeh-
12 ?kaVs esa r; dh xbZ dqy nwjh fdruh Fkh\
(a) 456 kms (b) 482 kms

(c) 552 kms (d) 556 kms

3. A man reaches his office 20 min late, if he

walks from his home at 3 km per hour and

reaches 30 min early if he walks 4 km per

hour. How far is his office from his house ?

,d vkneh vius ?kj ls 3 fdeh çfr ?kaVs dh xfr ls pyus
ij 20 feuV nsj ls dk;kZy; igqaprk gS vkSj ;fn og 4
fdeh çfr ?kaVs dh xfr ls pyrk gS rks 30 feuV igys
igqaprk gSA mldk dk;kZy; mlds ?kj ls fdruh nwj gS\
(a) 20 km (b) 16 km

(c) 14 km (d) 10 km

4. A man walking at the rate of 5 km/hr crosses

a bridge in 15 minutes. The length of the

bridge (in metres) is

,d O;fÙkQ 5 fdeh@?kaVk dh xfr ls pyrs gq, ,d iqy dks
15 feuV esa ikj djrk gSA iqy dh yackbZ (ehVj esa) gS
(a) 600 (b) 750

(c) 1000 (d) 1250

5. A man traveled from the village to the post-

office at the rate of 25 kmph and walked back

at the rate of 4 kmph. If the whole journey

took 5 hours 48 minutes, find the distance of

the post-office from the village ?

,d vkneh xk¡o ls Mkd?kj rd 25 fdeh çfr ?kaVs dh xfr
ls ;k=kk djrk gS vkSj 4 fdeh çfr ?kaVs dh xfr ls okil
vkrk gSA ;fn iwjh ;k=kk esa 5 ?kaVs 48 feuV yxrs gSa] rks
xk¡o ls Mkd?kj dh nwjh Kkr dhft;s\
(a) 40 km (b) 30 km

(c) 20 km (d) 10 km

Time, Speed & Distance/le;] pky vkSj nwjh
( Practice Sheet With Solution)

6. An employee may claim Rs 7.00 for each km
when he travels by taxi and Rs 6.00 for each
km if he drives his own car. If in one week he
claimed Rs 595 for traveling 90 km. How many
km did he travel by taxi ?

dksbZ deZpkjh tc VSDlh ls ;k=kk djrk gS rks çR;sd fdeh ds
fy, 7-00 #i;s vkSj ;fn og viuh dkj pykrk gS rks çR;sd
fdeh ds fy, 6-00 #i;s dk nkok dj ldrk gSA ;fn ,d
lIrkg esa mlus 90 fdeh dh ;k=kk ds fy, 595 #i;s dk nkok
fd;kA mlus VSDlh ls fdrus fdyksehVj dh ;k=kk dh\
(a) 55 km (b) 35 km
(c) 25 km (d) 65 km

7. With an average speed of 40 km/hr, a train
reaches its destination in time. If it goes with
an average speed of 35 km/hr, it is late by 15
minutes. Find the length of the total journey?

40 fdeh@?kaVk dh vkSlr xfr ls ,d jsyxkM+h vius xarO;
LFkku ij le; ls igq¡prh gSA ;fn ;g 35 fdeh@?kaVk dh
vkSlr xfr ls tkrh gS] rks ;g 15 feuV nsjh ls igq¡prh gSA
dqy ;k=kk dh yackbZ Kkr dhft;s\
(a) 70 km (b) 60 km

(c) 45 km (d) 30 km

8. A train overtakes two girls who are walking in
the  opposite direction in which the train  is
going at the rate of 3 km/h and 6km/h and
passes them completely in 36 seconds and 30
seconds respectively. The length of the train is:

,d Vªsu 3 fdeh@?kaVk vkSj 6 fdeh@?kaVk dh xfr ls foijhr
fn'kk esa py jgh nks yM+fd;ksa dks vksojVsd djrh gS vkSj
mUgsa Øe'k% 36 lsdaM vkSj 30 lsdaM esa iwjh rjg ls ikj
dj ysrh gSA Vªsu dh yackbZ gS%
(a) 120 m (b) 150 m

(c) 125 m (d) None of these

9. A person goes to his office at 1/3rd of the
speed at which he returns from his office. If
the average speed during the whole trip is 12
km/h . what is the speed of the person while
he was going to his office?

,d O;fÙkQ ftl xfr ls vius dk;kZy; ls ykSVrk gS] mldh
1@3 xfr ls vius dk;kZy; tkrk gSA ;fn iwjh ;k=kk ds
nkSjku vkSlr xfr 12 fdeh@?kaVk gSA tc og vius dk;kZy;
tk jgk Fkk rc ml O;fÙkQ dh xfr fdruh Fkh\
(a) 10 (b) 6

(c) 8 (d) Can't be determined
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Time, Speed & Distance

10. A thief goes away with a maruti car at a speed

of 40 kmph. The theft has been discovered

after half an hour and the owner sets off in a

bike at 50 kmph when will the owner overtake

the thief from the start ?

,d pksj 40 fdeh çfr ?kaVs dh xfr ls ,d ek#fr dkj
ysdj pyk tkrk gSA vk/s ?kaVs ds ckn pksjh dk irk pyrk
gS vkSj ekfyd 50 fdeh çfr ?kaVs dh jÝrkj ls ckbd ls
fiNk djrk gS] ekfyd 'kq: ls gh pksj dks dc idM+sxk\
(a) 2 hrs 10 min (b) 2 hrs

(c) 2 hrs 5 min (d) 2 hrs 30 min

11. A policeman starts chasing a theif when he was

800 m ahead. The policeman and the thief run

at rate of 12 km/h and 9 km/h, respectively.

What will be the distance between them after

10 minutes?

,d iqfyldehZ pksj dk ihNk djuk 'kq: djrk gS tc og
800 ehVj vkxs FkkA iqfyldehZ vkSj pksj Øe'k% 12
fdeh@?kaVk vksj 9 fdeh@?kaVk dh xfr ls nkSM+rs gSaA 10
feuV ckn muds chp dh nwjh D;k gksxh\
(a) 200 m (b) 400 m

(c) 100 m (d) 300 m

12. A policeman follows a thief 1800 metres who

is ahead of him. If the policeman and the thief

run at a speed of 12 km/h and 9 km/h,

respectively, how much distance thief will

cover from spotting point (1800 meters ahead

to policeman) before catch by policeman?

,d iqfyldehZ ,d pksj dk tks mlls 1800 ehVj vkxs gS]
ihNk djrk gSA ;fn iqfyldehZ vkSj pksj Øe'k% 12 fdeh@?kaVk
vkSj 9 fdeh@?kaVk dh xfr ls nkSM+rs gSa] rks iqfyldehZ }kjk
idM+s tkus ls igys pksj LikWfVax@ikWbaV (iqfyldehZ ls 1800
ehVj vkxs) ls vkxs fdruh nwjh r; djsxk\
(a) 5600 m (b) 6000 m

(c) 4200 m (d) 5400 m

13. A thief is noticed by a policeman from a

distance of 97 m. The thief starts running and

the policeman chases him. The thief and the

policeman run at a speed of 21 m/sec and

23 m/sec respectively. What is the time taken

by the policeman to catch the thief?

,d iqfyldehZ dks 97 m dh nwjh ls ,d pksj fn[kkbZ
nsrk gSA pksj Hkkxus yxrk gS vkSj iqfyldehZ mldk ihNk
djrk gSA pksj vkSj iqfyldehZ Øe'k% 21 m/sec vkSj
23 m/sec dh pky ls nkSM+rs gSaA pksj idM+us eas iqfyldehZ
dks fdruk le; yxrk gS\

SSC CGL 02/12/2022 (Shift- 01)

(a) 40 sec (b) 45 sec

(c) 62.5 sec (d) 48.5 sec

14. If Mohit covers three equal distances at the

speed of 30 km/h, 25 km/h and 20 km/h,

respectively, then find his average speed

during the whole journey.

;fn eksfgr rhu leku nwfj;ka Øe'k% 30 fdeh@?kaVk] 25
fdeh@?kaVk vkSj 20 fdeh@?kaVk dh pky ls r; djrk gS]
rks iwjh ;k=kk ds nkSjku mldh vkSlr pky Kkr djsaA

(a) 34.50 km/h (b) 24.32 km/h

(c) 25.30 km/h (d) 43.32 km/h

15. Shyam drives his car 30 km at a speed of 45
km/h and, for the next 1h 20m, he drives it
at a speed of 51 km/h. Find his average speed
(in km/h) for the entire journey.

';ke viuh dkj dks 30 fdeh] 45 fdeh@?kaVk dh pky ls
pykrk gS vxys 1 ?kaVs 20 feuV ds fy, og bls 51
fdeh@?kaVk dh pky ls pykrk gSA iwjh ;k=kk ds fy, mldh
vkSlr pky (fdeh@?kaVk esa) Kkr dhft,A

(a) 49 (b) 48

(c) 48.5 (d) 47

16. A car travels at 58 kmph for 5 hours. At what
speed it should travel for the next 2 hours so
that average speed becomes 50 kmph?

,d dkj 5 ?kaVs ds fy, 58 fdeh izfr ?kaVs dh ;k=kk djrh
gSA vxys 2 ?kaVs esa mls fdl xfr ls pyuk pkfg, fd
vkSlr xfr 50 fdeh izfr ?kaVk gks tk,\

(a) 25 kmph (b) 29 kmph

(c) 35 kmph (d) 30 kmph

17. Nidhi runs at 32.6 kmph for 6 hours and at
11.6 kmph for 8 hours. Find out her average
speed.

fuf/ 32-6 fdeh izfr ?kaVs dh jÝrkj ls 6 ?kaVs vkSj 11-6
fdeh izfr ?kaVs dh jÝrkj ls 8 ?kaVs pyrh gS mldh vkSlr
xfr Kkr dhft,A

(a) 22.1 kmph (b) 20.6 kmph

(c) 18.3 kmph (d) 16.6 kmph

18. While travelling from Nashik to Daman, Harsh
drove for 1 hour at a speed of 50 km/h and
for the next three hours at 60 km/h. What was
his average speed for the whole trip?

ukfld ls neu dh ;k=kk djrs le;] g"kZ us 1 ?kaVs ds fy,
50 fdeh@?kaVk dh pky ls vkSj vxys rhu ?kaVksa ds fy,
60 fdeh@?kaVk dh pky ls xkM+h pykbZA iwjh ;k=kk esa mldh
vkSlr pky D;k jgh\

(a) 56 km/h (b) 57.5 km/h

(c) 55 km/h (d) 58.5 km/h
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Time, Speed & Distance

19. A car travels for 40 minutes at a speed of 40
km/h, for another 50 minutes at a speed of
45 km/h and for next 90 minutes at a speed
of 60 km/h. what is the average speed (in km/
h) of the car for the entire journey?

,d dkj 40 fdeh@?kaVk dh xfr ls 40 feuV rd pyrh gS]
vU; 50 feuV ds fy, 45 fdeh@?kaVk dh xfr ls vkSj  vxys
90 feuV ds fy, 60 fdeh@?kaVk dh xfr ls ;k=kk djrh gSA
iwjh ;k=kk esa dkj dh vkSlr xfr (fdeh@?kaVk esa) D;k gS\

(a)
1

49
4

(b)
5

50
9

(c)
7

51
18

(d)
5

50
18

20. A man travels from point A to B at 40 km/h,
further from B to C at 50 km/h, and then
further from C to D at 60 km/h. the ratio
between the distance AB, BC and CD is 1:2:3.
He returns from D to A at x km/h. if his
average speed for the entire journey is

480

13
km/h, then what is the value of x?

,d O;fDr fcanq A ls B rd 40 fdeh@?kaVk dh xfr ls]
vkxs B ls C rd 50 fdeh@?kaVk dh xfr ls vkSj fiQj vkxs
C ls D rd 60 fdeh@?kaVk dh xfr ls ;k=kk djrk gSA nwjh
AB, BC vkSj CD ds chp dk vuqikr 1 :  2 : 3 gSA og
x  fdeh@?kaVk dh xfr ls D ls A dh vkSj ykSVrk gSA ;fn

iwjh ;k=kk esa mldh vkSlr xfr 
480

13
fdeh@?kaVk gS] rks x

dk eku D;k gS\

(a)
5

25
7

(b)
2

34
7

(c)
6

32
7

(d)
4

28
7

21. Pranav walked at 5 km/h for certain part of
the journey and then he took an auto for the
remaining part of the journey travelling at 25
km/h. If he took 10 hours for the entire
journey, what part of journey did he travelled
by auto if the average speed of the entire
journey be 17 km/h?

ç.ko ;k=kk ds ,d fuf'pr Hkkx rd 5 fdeh- çfr ?kaVk
dh xfr ls iSny pyrk gS vksj fiQj og 'ks"k ;k=kk ds fy,
25 fdeh- çfr ?kaVk dh xfr ls ,d vkWVks fjD'kk ysrk gSA
;fn og iwjh ;k=kk ds fy, 10 ?kaVs ysrk gS] rks ;k=kk dk
fdruk Hkkx mlus vkWVks fjD'kk esa r; fd;k] ;fn iw.kZ ;k=kk
dk vkSlr xfr 17 fdeh@?kaVk gS\
(a) 750 km (b) 100 km

(c) 150 km (d) 200 km

22. A train goes from P to Q with a speed µ km/
h, then from Q to R (QR = 2PQ) with a speed
3µ km/h, and returns from R to P with a speed
µ/2 km/h. What is the average speed (in km/
h) of the train for the entire journey starting
from P and back to P?

,d Vªsu P ls Q rd µ fdeh@?kaVk dh pky ls tkrh gS fiQj
Q ls R rd (QR = 2PQ) 3µ fdeh@?kaVk dh pky ls tkrh
gS vkSj R ls P rd µ/2 fdeh@?kaVk dh pky ls okil
vkrh gSA P ls 'kq: gksdj P rd okil vkus ds nkSjku bl
iwjh ;k=kk esa Vªsu dh vkSlr pky (fdeh@?kaVk esa) Kkr djsaA

SSC CHSL 11 July 2019 (Afternoon)

(a)
18

23


(b)

4

3



(c)
16

23


(d)

3

2



23. A person travels at a speed of 40 km/hr for
1

2
 of the distance, at a speed of 30 km/hr for

1

3
rd of the distance and at a speed of 60 km/

hr for the remaining distance. Find his average
speed.

,d O;fÙkQ viuh 
1

2
 nwjh ds fy, 40 fdeh@?kaVk dh xfr

ls] 
1

3
 nwjh ds fy, 30 fdeh@?kaVk dh xfr ls vkSj 'ks"k

nwjh ds fy, 60 fdeh@?kaVk dh xfr ls ;k=kk djrk gSA
mldh vkSlr xfr Kkr dhft,A

(a) 35 
17

19
  km/hr (b) 37

17

19
 km/hr

(c) 27 km/hr (d) 39 km/hr

24. Pranav went to the bank at the speed of 60
km/h while returning for his home he covered
the half of the distance at the speed of 10 km/
h. but suddenly he realized that he was getting
late so he increased the speed and reached the
home by covering rest half of the distance at
the speed of 30 km/h. The average speed of
the Pranav in the whole length of journey is:

ç.ko cSad 60 fdeh@?kaVk dh LihM ij x;k Fkk fdUrq ?kj
okilh ds le; mlus vk/h nwjh 10 fdeh@?kaVk dh xfr ij
r; dhA vpkud mls yxk fd og ysV gks jgk Fkk rks mlus
viuh LihM c<+kbZ vkSj ckdh cph gqbZ nwjh og 30 fdeh@?kaVk
dh xfr ls r; djrs gq, ?kj igqap x;kA iwjh ;k=kk esa ç.ko
dh vkSlr xfr D;k Fkh\

(a) 24 km/hr (b) 16 km/hr

(c) 14 km/hr (d) 10 km/hr
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Time, Speed & Distance

25. A person travels a distance of 300km and then
returns to the starting point. The time taken
by him for the outward journey is 5 hours more
than the time taken for the return journey. If
he returns at a speed of 10km/h more than the
speed of going, what is the average speed (in
km/h) for the entire journey ?

,d O;fDr 300 fdeh dh nwjh r; djrk gS vkSj fiQj
'kq:vkrh fcanq ij ykSVrk gSA tkus dh ;k=kk ds fy, mlds
}kjk fy;k x;k le; okilh dh ;k=kk ds fy,] fy, x,
le; ls 5 ?kaVs vf/d gSA vxj og tkus dh pky ls 10
fdeh@?kaVk vf/d dh pky ls ykSVrk gS] rks iwjh ;k=kk esa
vkSlr pky (fdeh@?kaVk esa) D;k gS\

CPO 23/11/2020 (Evening)

(a) 24 (b) 15

(c) 20 (d) 30

26. A cyclist travels through the sides of an
equilateral triangle at a speed of 14 km/h, 28
km/h and 12 km/h. What is the average speed
(in km/h) of the cyclist?

,d lkbfdy lokj ,d leckgq f=kHkqt dh Hkqtkvksa ls 14
fdeh@?kaVk] 28 fdeh@?kaVk vkSj 12 fdeh@?kaVk dh xfr ls
;k=kk djrk gSA lkbfdy lokj dh vkSlr xfr (fdeh@?kaVk
esa) D;k gS\
(a) 13.50 (b) 16.25

(c) 14.25 (d) 15.75

27. The distance between the two towns is 250
km. Two motorists travel towards each other
simultaneously. The speed of one of them is
5 km/h faster than the other, and the distance
between them after 1.5 hours of start is 31
km. Find the average of their speeds.

nksuksa dLcksa ds chp dh nwjh 250 fdeh gSA nks eksVj pkyd
,d lkFk ,d nwljs dh vksj ;k=kk djrs gSaA muesa ls ,d dh
xfr nwljs dh rqyuk esa 5 fdeh@?kaVk rst gS] vkSj 'kq: gksus
ds 1-5 ?kaVs ds ckn muds chp dh nwjh 31 fdeh gSA mudh
xfr dk vkSlr Kkr dhft,A
(a) 75 (b) 71

(c) 70 (d) 73

28. Kamal started his road trip in his car and
moved at a constant speed of 75 kmph. After
completing x% of his total journey, his car
started malfunctioning, and therefore, he had
to complete his journey at half of his normal
speed. What is the average speed (in kmph) of
Kamal's whole journey, in terms of x?

dey us viuh dkj esa viuh lM+d ;k=kk 'kq: dh vkSj 75
fdeh çfr ?kaVs dh fLFkj xfr ls pykA viuh dqy ;k=kk dk
x» iwjk djus ds ckn] mldh dkj •jkc gksus yxh] vkSj
blfy,] mls viuh ;k=kk dks viuh lkekU; xfr ds vk/h
xfr ls iwjk djuk iM+kA x ds lanHkZ esa dey dh iwjh ;k=kk
dh vkSlr xfr (fdeh çfr ?kaVs esa) D;k gS\

(a)
7500

100 + x
(b)

7500

100 – x

(c)
7500

300 – x
(d)

7500

200 – x

29. Excluding stoppages, the average speed of a bus

is 60 km/hr and including stoppages, the

average speed of the bus is 40 km/hr. For how

many minutes does the bus stop per hour ?

Bgjko dks NksM+dj] cl dh vkSlr xfr 60 fdeh@?kaVk gS
vkSj Bgjko lfgr] cl dh vkSlr xfr 40 fdeh@?kaVk gSA
çfr ?kaVs cl fdrus feuV #drh gS\

(a) 2 hrs (b) 20 min

(c) 40 min (d) 30 min

30. A train without stoppage travels with an
average speed of 50 km/hr, and with stoppage,
it travels with an average speed of 40 km/hr.
For how many minutes does the train stop on
an average per hour?

,d jsyxkM+h fcuk #ds (LVkWist) 50 fdeh@?kaVk dh vkSlr
xfr ls vkSj :dus ds lkFk 40 fdeh@?kaVk dh vkSlr xfr ls
pyrh gSA jsyxkM+h] vkSlru izfr ?kaVk fdrus feuV :drh gS\

(a) 12 (b) 13

(c) 14 (d) 15

31. A train covers a certain distance at an average
speed of 120 km/h without any stoppages.
While returning the same journey the train
covers the distance at an average speed of 80
km/h with stoppages. What is the average
stoppage time per hour taken by the train?

,d Vªsu fcuk #ds 120 fdeh@?kaVk dh vkSlr xfr ls ,d
fuf'pr nwjh r; djrh gSA mlh ;k=kk ls ykSVrs le; Vªsu
Bgjko ds lkFk 80 fdeh@?kaVk dh vkSlr xfr ls nwjh r;
djrh gSA Vªsu }kjk fy;k x;k çfr ?kaVk vkSlr LVkWist le;
D;k gS\

(a) 30 minutes (b) 32 minutes

(c) 20 minutes (d) 24 minutes

32. A bus covers a distance without stoppages at
90 km/h, and while returning covers the same
distance with stoppages at 75 km/h. Find the
average stoppage time per hour.

,d cl fcuk #ds 90 fdeh@?kaVk dh xfr ls ,d nwjh r;
djrh gS] vkSj okil ykSVrs le; leku nwjh dks 75 fdeh@?kaVk
dh xfr ls :drs gq, ikj djrh gSA çfr ?kaVk vkSlr Bgjko
le; Kkr dhft,A

(a) 15 min (b) 8 min

(c) 10 min (d) 12 min
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Time, Speed & Distance

33. A Person X started at 3 hours earlier  at

40km/h from a place P, then another person

Y followed him at 60km/h. Started his journey

at 3 O'clock, afternoon. What is the difference

in time when X was 30 km ahead of Y and

when Y was 30 km ahead of X?

,d O;fÙkQ X] 3 ?kaVs igys ,d LFkku P ls 40 fdeh@?kaVk dh
xfr ls pyuk 'kq: djrk gS] fiQj ,d vU; O;fÙkQ Y 60
fdeh@?kaVk dh xfr ls mldk ihNk djrk gSA nksigj 3 cts
viuh ;k=kk 'kq: dhA le; esa fdruk varj gS tc X] Y ls
30 fdeh vkxs Fkk vkSj tc Y] X ls 30 fdeh vkxs Fkk\

(a) 2 h (b) 3 h

(c) 3.5 h (d) 4.25 h

34. Two men A and B start from place X walking

at
1

4
2

 kmph and 
3

5
4

 kmph respectively. How

many km apart they are at the after 
1

3
2

 hours

if they are walking in the same direction?

nks iq#"k A vkSj B LFkku X ls Øe'k%
1

4
2
fdeh çfr ?kaVs

vkSj 
3

5
4
 fdeh çfr ?kaVs dh xfr ls pyuk 'kq: djrs gSaA

;fn os ,d gh fn'kk esa py jgs gksa rks 
1

3
2
 ?kaVs ckn os

fdrus fdeh nwj gksaxs\

(a)
9

2
7

 km (b)
7

3
5

 km

(c)
3

1
4

 km (d)
3

4
8

 km

35. A man in a train notices that he can count 41

telephone posts in one minute. If they are

known to be 50 metres apart, then at what

speed is the train travelling

Vªsu esa ,d vkneh uksfVl djrk gS fd og ,d feuV esa
41 VsyhiQksu iksLV fxu ldrk gSA ;fn og 50 ehVj dh
nwjh ij gS] rks Vªsu fdl xfr ls py jgh gS

(a) 60 km/hr (b) 100 km/hr

(c) 110 km/hr (d) 120 km/hr

36. Aditya Ranjan went to another town covering

240 km by car moving at 60 kmph. Then he

covered 400 km by train moving at 100 kmph

and then rest 200 km he covered by a bus

moving at 50 kmph. The average speed during

the whole journey was ?

vkfnR; jatu 60 fdeh çfr ?kaVs dh jÝrkj ls pyrh dkj
ls 240 fdeh dh nwjh r; djds nwljs 'kgj x,A fiQj og
100 fdeh çfr ?kaVs dh xfr ls pyus okyh Vªsu ls 400
fdeh dh nwjh r; djrs gS vkSj fiQj 200 fdeh dh nwjh
dks og 50 fdeh çfr ?kaVs dh xfr ls pyus okyh cl ls
r; djrk gSA iwjh ;k=kk ds nkSjku vkSlr xfr Fkh\
(a) 36 kmph (b) 35 kmph

(c) 72 kmph (d) 70 kmph

37. Mr. Karthik drives to work at an average speed
of 48 km/hr. Time taken to cover the first
60% of the distance is 20 minutes more than
the time taken to cover the remaining
distance. Then how far is his office ?

Jh dkfrZd 48 fdeh@?kaVk dh vkSlr xfr ls dke ij tkrs
gSaA igyh 60» nwjh dks r; djus esa yxk le; 'ks"k nwjh dks
r; djus esa yxus okys le; ls 20 feuV vf/d gSA rks
mldk dk;kZy; fdruh nwj gS \
(a) 40 km (b) 50 km

(c) 70 km (d) 80 km

38. Buses start from a bus terminal with a speed
of 20 kmph at intervals of 10 minutes. What
is the speed of a man coming from the
opposite direction towards the bus terminal if
he meets the buses at intervals of 8 minutes?

cl VfeZuy ls clsa 10 feuV ds varjky ij 20 fdeh@?kaVk
dh xfr ls pyrh gSaA foijhr fn'kk ls cl VfeZuy dh vksj
vkus okys ,d O;fÙkQ dh xfr D;k gS ;fn og 8 feuV ds
varjky ij clksa ls feyrk gS\
(a) 5 kmph (b) 6 kmph

(c) 7.5 kmph (d) 8 kmph

39. Robert is traveling on his cycle and has
calculated to reach point A at 2 p.m. if he
travels at 10 km/hr; he will reach there at 12
noon if he travels at 15 km/hr. At what speed
must he travel to reach A at 1 p.m. ?

jkWcVZ viuh lkbfdy ij ;k=kk dj jgk gS vkSj og nksigj 2
cts fcanq A ij igq¡psxk ;fn og 10 fdeh@?kaVk dh xfr ls
;k=kk djrk gS ;fn og 15 fdeh@?kaVk dh xfr ls ;k=kk djrk
gS rks og ogka nksigj 12 cts igqapsxkA nksigj 1 cts A rd
igq¡pus ds fy, mls fdl xfr ls ;k=kk djuh pkfg,\ \
(a) 20 kmph

(b) 18 kmph

(c) 12 kmph

(d) 16 kmph

40. A bus is running at 
9

10
of its own speed

reached a place in 22 hours. How much time
could be saved if the bus would run at its own
speed ?
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,d cl viuh xfr dh 
9

10
xfr ls py jgh gS vkSj 22

?kaVs esa ,d LFkku ij igq¡p tkrh gSA ;fn cl viuh xfr ls
pyrh rks fdruk le; cpk ysrh gS\
(a) 1.5 hrs (b) 1.7 hrs

(c) 2.2 hrs (d) 3.5 hrs

41. The respective ratio between the speed of a
bike, a van  and lorry is 3 : 5 : 2. The speed of
the van is 250 percent of the speed of the lorry
which covers 360 km in 12 hours. What is the
average speed of the bike and the van
together?

,d ckbd] ,d oSu vkSj ykWjh dh xfr ds chp lacaf/r
vuqikr 3 % 5 % 2 gSA oSu dh xfr ykWjh dh xfr dk 250
çfr'kr gS tks 12 ?kaVs esa 360 fdeh dh nwjh r; djrh gSA
ckbd vkSj oSu dh feykdj vkSlr xfr fdruh gS\
(a) 60 kmph (b) 62 kmph

(c) 64 kmph (d) 63 kmph

42. A boy walking at the speed of 3 km/hr covers
a certain distance in 3 hours 40 minutes. If
he covers the same distance by cycle in 11
hours, then what is the speed (in km/hr) of
cycle?

,d yM+dk 3 fdeh@?kaVk dh xfr ls pyrs gq, ,d fuf'pr
nwjh dks 3 ?kaVs 40 feuV esa r; djrk gSA ;fn og leku
nwjh lkbfdy ls 11 ?kaVs esa r; djrk gS] rks lkbfdy dh
xfr (fdeh@?kaVk esa) D;k gS\
(a) 1 (b) 2

(c) 4 (d) 3

43. A boy is driving car at the speed of 42 km/hr.
He stops for 8 minutes at end of every 11 km.
What will be the time (in minutes) taken by
him to cover a distance of 84 km?

,d yM+dk 42 fdeh@?kaVk dh xfr ls dkj pyk jgk gSA
og çR;sd 11 fdeh ds var esa 8 feuV #drk gSA 84 fdeh
dh nwjh r; djus esa mls fdruk le; (feuVksa esa) yxsxk\
(a) 138 (b) 142

(c) 156 (d) 176

44. Abhishek had to travel 420 km in 8 hours. If
he travelled at an average speed of 60 km/h
and took two breaks in between, the shorter
break being one-third the duration of the
longer, how many minutes was the longer
break for?

vfHk"ksd dks 8 ?kaVs esa 420 fdeh dk liQj r; djuk FkkA
;fn og 60 fdeh@?kaVk dh vkSlr xfr ls ;k=kk djrk gS
vkSj chp esa nks czsd ysrk gS] rks NksVk czsd yacs le; dh
vof/ dk ,d&frgkbZ gS] rks yack czsd fdrus feuV dk Fkk\
(a) 45 (b) 30

(c) 40 (d) 35

45. Amit travelled a distance of 50 km in 9 hours.

He travelled partly on foot at 5 km/h and

partly by bicycle at 10 km/h. The distance

travelled on the bicycle is:

vfer us 9 ?kaVs esa 50 fdeh dh nwjh r; dhA mlus vkaf'kd
:i ls 5 fdeh@?kaVk dh iSny ;k=kk dh vkSj vkaf'kd :i
ls lkbfdy ls 10 fdeh@?kaVk dh xfr ls ;k=kk dhA lkbfdy
ij r; dh xbZ nwjh gS%

(a) 11 km (b) 10 km

(c) 13 km (d) 12 km

46. A man travelled at 40 kmph. Had he increased

his speed by 16 kmph, he would have covered

870 km more in the same time. Find the

actual distance travelled?

,d vkneh 40 fdeh çfr ?kaVs dh xfr ls ;k=kk djrk gSA
;fn og viuh xfr 16 fdeh çfr ?kaVs c<+k nsrk] rks og
mrus gh le; esa 870 fdeh vf/d r; dj ysrkA r; dh
xbZ okLrfod nwjh Kkr dhft;s\

(a) 3045 km (b) 3040 km

(c) 2000 km (d) 2040 km

47. P and Q are at a distance of 240 km from each

other at 9:00 a.m. After 1 hour, P starts

moving towards Q at a speed of 25 km/hr. At

11 a.m. Q starts moving towards P at the speed

of 18 km/hr. At what time (in p.m.) will they

meet?

P vkSj Q çkr% 9%00 cts ,d nwljs ls 240 fdeh dh nwjh
ij gSaA 1 ?kaVs ds ckn] P 25 fdeh@?kaVk dh xfr ls Q dh
vksj c<+uk 'kq: djrk gSA iwokZÉ 11 cts Q 18 fdeh@?kaVk
dh xfr ls P dh vksj c<+uk 'kq: djrk gSA os fdl le;
(nksigj esa) feysaxs\

(a) 6 (b) 5

(c) 3 (d) 4

48. A train travels at a speed of 66 km/h and halts

at five junctions for a certain time. If covers

a distance of 1485 km in one day. For how

long (in minutes) does the train stop at each

junction, if it halts for the same period of time

at all the junctions?

,d Vªsu 66 fdeh@?kaVk dh pky ls ;k=kk djrh gS vkSj ,d
fuf'pr le; ds fy, ik¡p taD'kuksa ij :drh gSA ;g ,d
fnu esa 1485 fdeh dh nwjh r; djrh gSA vxj Vªsu lHkh
taD'kuksa ij leku vof/ rd :drh gS rks ;g izR;sd taD'ku
ij fdrus le; rd (feuVksa esa) :drh gS\

(a) 15 (b) 18

(c) 12 (d) 20
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49. X and Y start their journey at the same time
from place A to B, respectively.After meeting
each other on the way, X and Y complete their

journey in 5
4

9
 hours and p hours respectively.

If the speed of X is 28
4

7
% is more than that

of Y, then what is the value of p?

X vkSj Y Øe'k% LFkku A ls B rd ,d gh le; ij viuh
;k=kk 'kq: djrs gSaA jkLrs esa ,d nwljs ls feyus ds ckn] X

vkSj Y viuh ;k=kk Øe'k% 5
4

9
 ?kaVs vkSj p ?kaVs esa iwjh

djrs gSaA ;fn X dh xfr] Y dh xfr ls 28
4

7
%  vf/d

gS] rks p dk eku D;k gS\

(a)
1

4
2

(b) 9

(c) 8 (d) 6

50. A person reaches his destination 32 minutes
late if his speed is 6 km/h, and reaches 18
minutes before time if his speed is 7 km/h.
Find twice the distance (in km) of his
destination from his starting point.

;fn ,d O;fDr dh pky 6 fdeh@?kaVk gS rks og vius
xarO; ij 32 feuV nsjh ls igaqprk gS vkSj ;fn mldh
pky 7 fdeh@?kaVk gS rks og le; ls 18 feuV igys igqap
tkrk gSA mlds vkjafHkd fcanw ls mlds xarO; dh nksxquh
nwjh (fdeh esa) Kkr dhft,A

(a) 55 (b) 70

(c) 60 (d) 65

51. A man travels from a city X to city Y. If he
travels 25% faster than his speed, he would
reach Y 15 minutes early. By how many
minutes would he be late if he travels 40%
slower than his usual speed?

,d vkneh 'kgj X ls 'kgj Y dh ;k=kk djrk gSA ;fn og
viuh xfr ls 25» rst ;k=kk djrk gS] rks og Y ls 15 feuV
igys igqap tkrk gSA ;fn og viuh lkekU; xfr ls 40» /heh
xfr ls ;k=kk djrk gS rks mls fdrus feuV dh nsjh gksxh\

(a) 36 (b) 50

(c) 40 (d) 45

52. Two trains whose lengths are 450 meters and
300 meters are moving towards each other at
the speed of 162 km/h and 108 km/h
respectively. If distance between trains is 300
meters, in how much time, these trains will
cross each other?

nks Vªsusa ftudh yackbZ 450 ehVj vkSj 300 ehVj gS] ,d
nwljs dh vksj Øe'k% 162 fdeh@?kaVk vkSj 108 fdeh@?kaVk
dh xfr ls vkxs c<+ jgh gSaA ;fn Vªsuksa ds chp dh nwjh
300 ehVj gS] rks ;s Vªsu fdrus le; esa ,d nwljs dks ikj
djsxh\
(a) 28 seconds (b) 35 seconds

(c) 14 seconds (d) 21 seconds

53. Two trains are running on a parallel track with

a speed of 63 km/h and 72 km/h, when both

the trains run in opposite directions of each

other then crosses in 12 seconds, but when a

person is in a fast moving train he saw that

the slow-moving train crosses that person in

48 seconds when they move in the same

direction, then find out the difference between

the length of the train?

nks jsyxkM+h 63 fdeh@?kaVk vkSj 72 fdeh@?kaVk dh pky ls
lkekukUrj iVjh ij py jgh gS tc nksuks jsyxkM+h ,d
nwljs ds foijhr fn'kk esa pyrh gS rks 12 lsdaM esa ikj dj
tkrh gS ysfdu tc ,d O;fÙkQ rst xfr ls py jgh jsyxkM+h
ij cSBk gS mlus ns[kk dh /heh xfr ls pyus okyh jsyxkM+h
ml O;fÙkQ dks 48 lsdaM esa ikj dj tkrh gS tc os leku
fn'kk esa pyrh gS rks nksuksa jsyxkM+h dh yEckbZ dk varj
Kkr djsa\
(a) 210 m (b) 180 m

(c) 240 m (d) 250 m

54. A takes 2 hours more than B to cover a

distance of 40 km. If A doubles his speed, he

takes 
1

1
2

hours more than B to cover 80 km.

To cover a distance of 90 km, how much time

will B take travelling at his same speed?

40 fdeh dh nwjh r; djus esa] A dks B ls 2 ?kaVs vf/d
yxrs gSaA ;fn A viuh pky dks nksxquk djrk gS] rks mls

80 fdeh dh nwjh r; djus esa B ls 
1

1
2
?kaVs vf/d yxrsa

gSaA 90 fdeh dh nwjh r; djus ds fy,] B dks viuh mlh
pky ls fdruk le; yxsxk\

(a)
1

1
8

 hours (b)
3

1
8

 hours

(c)
1

1
6

 hours (d)
1

1
3

 hours

55. A man walking at a speed of 3 km/h crosses a

square field diagonally in 5 minutes. What is

the area of the field (in m2)?
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3 fdeh@?kaVs dh pky ls pyus okyk ,d O;fDr] fdlh
oxkZdkj eSnku dks fod.kZr% 5 feuV esa ikj djrk gSA eSnku
dk {ks=kiQy (eh2 esa) Kkr djsaA
(a) 3125 (b) 31250

(c) 3.125 (d) 312.5

56. A and B are travelling towards each other form
the points P and Q respectively. After crossing

each other. A and B take 
1

6
8

hours and 8

hours respectively, to reach their destinations
Q and P respectively. If the speed of B is 16.8
km/hr, then the speed (in km/hr) of A is:

A vkSj B Øe'k% P vkSj Q fcnaqvksa ls ,d nwljs dh vksj
;k=kk dj jgs gSaA ,d nwljs dks ikj djus ds ckn] A vkSj
B Øe'k% vius xarO; Q vkSj P rd igqapus ds fy, Øe'k%

1
6

8
 ?kaVs] 8 ?kaVs dk le; ysrs gSaA ;fn B dh xfr 16-8

fdeh@?kaVk gS] rks A dh xfr (fdeh@?kaVk) gS%
(a) 20.8 (b) 19.8

(c) 19.2 (d) 20.4

57. A man travels a certain distance by scooter.
If he increases his speed by 3 km/hr, he takes
40 min less, but if he decreases his speed by
2 km/hr, he takes 40 min more. Find the
distance.

,d vkneh dksbZ fuf'pr nwjh LdwVj ls tkrk gSA vxj og
viuh pky 3 fdeh@?kaVk c<+k ns rks 40 feuV de le;
ysrk gS] ijUrq vxj og viuh xfr 2 fdeh@?kaVk ?kVk ns rks
40 feuV T;knk le; yxrk gSA nwjh Kkr djksaa
(a) 20 (b) 30

(c) 40 (d) 50

58. Usually, A takes 3 hours more than B to cover
a certain distance. One day, A increases his
speed by 66.66% and takes 5 hours less than
B to cover the same distance. What is the time
taken by B to cover twice the original
distance?

vkerkSj ij A ,d fuf'pr nwjh r; djus esa B ls 3 ?kaVs
vf/d ysrk gSA ,d fnu A viuh xfr 66-66» c<+k nsrk
gS vkSj leku nwjh r; djus esa B ls 5 ?kaVs de ysrk gSA
ewy nwjh dh nksxquh nwjh r; djus esa  B dks fdruk le;
yxsxk\
(a) 24 (b) 17

(c) 40 (d) 34

59. The speed of B is as much more than C as its
is less than A. The time taken by A and C to
cover a certain distance are 20 minutes and
30 minutes respectively. What is the time
taken by B to cover that distance?

B dh xfr C ls mruh gh vf/d gS ftruh mldh A ls
de gSA A vkSj C }kjk ,d fuf'pr nwjh r; djus esa
Øe'k% 20 feuV vkSj 30 feuV dk le; yxrk gSA ml
nwjh dks r; djus esa B dks fdruk le; yxrk gS\

(a) 24 min (b) 25 min

(c) 28 min (d) 26 min

60. A man's car failed after he had covered 40%

of the distance from his home to his office.

He then boards a bus, which takes him to his

office. The time he spent traveling by bus is

twice the time he spent traveling by car. What

is the ratio of speeds of bus and car?

,d O;fDr dh dkj vius ?kj ls vius dk;kZy; dh 40»
nwjh r; djus ds ckn foiQy gks xbZA blds ckn og ,d
cl esa p<+rk gS] tkss mls vius dk;kZy; ys tkrh gSA ftruk
le; mlus cl ls ;k=kk djus esa fcrk;k] og dkj ls ;k=kk
djus esa [kpZ fd, x, le; esa nksxquk gSA cl vkSj dkj dh
xfr;ksa dk vuqikr fdruk gS\

(a) 4 : 3 (b) 3 : 2

(c) 1 : 2 (d) 3 : 4

61. Buses start from a terminal every 30 minutes.

A man walking in the same direction, away

from the terminal, observes that a bus crosses

him every 36 minutes. If he is walking at 9

kmph, then what is the speed of the each bus?

VfeZuy ls gj 30 feuV esa cls pyrh gSA VfeZuy ls nwj
,d gh fn'kk esa pyus okyk ,d O;fDr ns[krk gS fd gj
36 feuV esa ,d cl mls ikj djrh gSA ;fn og 9 fdeh
izfr ?kaVs dh xfr ls py jgk gS] rks izR;sd cl dh xfr
D;k gS\

(a) 54 km/hr (b) 36 km/hr

(c) 45 km/hr (d) 30 km/hr

62. Ram travelled from a place Z to P at an average

speed of 130 km/h. He travelled the first 75%

of the distance in two-third of the time and

the rest at an average speed of x km/h. The

value of 
2

x
is

jke us ,d LFkku Z ls P rd 130 fdeh@?kaVk dh vkSlr
pky ls ;k=kk dhA mlus igyh 75» nwjh nks&frgkbZ le; esa
r; dh vkSj 'ks"k nwjh x fdeh@?kaVk dh vkSlr pky ls r;

dhA 
2

x
 dk eku crkb,A

(a) 51 (b) 48.75

(c) 97.5 (d) 19.25
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63. Shyam went from Delhi to Shimla via
Chandigarh by car. The distance from Delhi to

Chandigarh is 
3

4
 times the distance from

Chandigarh to Shimla. The average speed from

Delhi to Chandigarh is 1
1

2
  times of the

average speed from Chandigarh to Shimla. If
the average speed for the entire journey was
49 kmph. What was the average speed from
Chandigarh to Shimla?

';ke dkj }kjk fnYyh ls f'keyk] p.Mhx<+ gksdj x;kA
fnYyh ls p.Mhx<+ dh nwjh] p.Mhx<+ vkSj f'keyk dh nwjh

dk 
3

4
 xq.kk gSA fnYyh ls p.Mhx<+ dh vkSlr pky] p.Mhx<+

ls f'keyk dh vkSlr pky dh 
1

1
2
 xq.kk gSA ;fn laiw.kZ

;k=kk dh vkSlr pky 49 fdeh@?kaVk gS rks p.Mhx<+  ls
f'keyk dh vkSlr pky D;k gS\
(a) 39.2 km/h (b) 63 km/h

(c) 42 km/h (d) None of these

64. 45 pillars are standing in a line such that
distance between any two consecutive pillars
is same. A car travelling with uniform speed
of 72 km/h takes 18 seconds to reach from
1st pole to 10th pole. What is the distance
between 10th and 31st pole (in metres)?

45 •EHks ,d lh/h iafÙkQ esa bl çdkj •M+s gS fd dksbZ Hkh
nks Øekxr •EHkksa ds chp dh nwjh ,d leku gSA ,d dkj
72 fd-eh- çfr ?kaVk dh xfr ls pyus ij igys ls 10 osa
•EHks rd igq¡pus esa 18 lsdaM ysrh gSA 10 osa •EHks rFkk
31 osa •EHks ds chp dh nwjh (ehVj esa) D;k gksxh\
(a) 800 (b) 820

(c) 840 (d) 910

65. A boy starts from his home at a certain time
with a certain speed to pick up his girlfriend
from office at 5:00 pm. One day his girlfriend
left the office at 3:00 pm and start walking to
home with a speed of 40 km/hr and meet the
boy in the way who left his home at his usual
time. They reached home 40 min earlier than
their usual time. find the speed of boy.

,d yM+dk vius ?kj ls fdlh fuf'pr le; ls viuh çsfedk
dks 'kke 5%00 cts dk;kZy; ls ysus ds fy, fdlh fuf'pr
xfr ls pyuk 'kq: djrk gSA ,d fnu mldh çsfedk nksigj
3%00 cts dk;kZy; ls ckgj fudyh vkSj 40 fdeh@?kaVk
dh xfr ls ?kj dh vksj pyuk 'kq: fd;k vkSj yM+ds ls
jkLrs esa feyh] tks vius lkekU; le; ij ?kj ls fudyk
FkkA os vius lkekU; le; ls 40 feuV igys ?kj igqap x,A
yM+ds dh xfr dk irk yxk,aA
(a) 80 km/hr (b) 120 km/hr

(c) 160 km/hr (d) 200 km/hr

66. Vinay fires two bullets from the same place at

an interval of 12 minutes  Raju sitting in a train

approaching the place hears the second report

11 minutes 30 seconds after the fires. What is

the approximate speed of train (if sound trav-

els at the speed of 330 metre per second)?

fou; 12 feuV ds varjky ij ,d gh LFkku ls nks xksfy;ka
pykrk gSA vkx yxus ds 11 feuV 30 lsdaM ckn Vªsu esa cSBk
jktw nwljh fjiksVZ lqurk gSA Vªsu dh vuqekfur xfr D;k gS
(;fn èofu 330 ehVj çfr lsdaM dh xfr ls pyrh gS)\

(a) 660/23 m/s (b) 220/7 m/s

(c) 330/23 m/s (d) 110/23 m/s

67. A car driver, driving in a fog, passes a pedes-

trian who was walking at the rate of 2 km/h in

the same direction. The pedestrian could see

the car for 6 minutes and it was visible to him

up to a distance of 0.6 km. What was the speed

of the car?

,d dkj pkyd] dksgjs esa xkM+h pykrs gq,] ,d iSny ;k=kh
dks ikj djrk gS tks mlh fn'kk esa 2 fdeh@?kaVk dh xfr ls
py jgk FkkA iSny ;k=kh dks dkj 6 feuV rd fn•kbZ nh vkSj
;g mls 0-6 fdeh dh nwjh rd fn•kbZ nhA dkj dh LihM D;k
Fkh\

(a) 30 km/h (b) 15 km/h

(c) 20 km/h (d) 8 km/h

68. On a straight road, a bus is 30 km ahead of

a car travelling in the same direction. After

3 hours, the car is 60 km ahead of the bus.

If the speed of the bus is 42 km/h, then find

the speed of the car.

,d lh/h lM+d ij] dksbZ cl mlh fn'kk esa py jgh
fdlh dkj ls 30 fdeh vkxs gSA 3 ?kaVs ckn] dkj cl
ls 60 fdeh vkxs fudy tkrh gSA ;fn cl dh pky 42
fdeh@?kaVk gS] rks dkj dh pky Kkr djsaA

SSC CPO 09/11/2022 (Shift-01)

(a) 67 km/h (b) 72 km/h

(c) 65 km/h (d) 59 km/h

69. A car cover the first 100 km at a speed of

50 km/h. It covered next 140 km at a speed

of 70 km/h. What is its average speed?

,d dkj us igys 100 km dh nwjh 50 km/h dh xfr
ls r; dhA blus vxys 140 km dh nwjh 70 km/h

dh xfr ls r; dhA bldh vkSlr xfr D;k gS\

SSC CPO 10/11/2022 (Shift-01)

(a) 60 km/h (b) 62 km/h

(c) 58 km/h (d) 64 km/h
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70. A truck goes from Haryana to Banglore with
an average speed of 60 km/h. The journey
takes 30  hours. It returns from Banglore to
Haryana on the same road with an average
speed of 40 km/h. What was the average speed
of the truck during the whole journey?

,d Vªd gfj;k.kk ls cSaxyksj rd 60 fdeh@?kaVs dh vkSlr
pky ls tkrk gSA ;k=kk esa 30 ?kaVs yxrs gSaA ;g cSaxyksj
ls gfj;k.kk ds fy, mlh lM+d ij 40 fdeh@?kaVk dh
vkSlr pky ls ykSVrk gSA iwjs ;k=kk ds nkSjku Vªd dh
vkSlr pky D;k Fkh\

SSC CPO 10/11/2022 (Shift-02)

(a) 60 km/h (b) 40 km/h
(c) 50 km/h (d) 48 km/h

71. A bus travels at 100 km/h for the first 1/2
hour. Later it travels at 80 km/h. Find the

time taken by the bus to travel 290 km.

,d cl igys 1@2 ?kaVs a ds fy, 100 fdeh@?kaVk dh
pky ls pyrh gSA ckn esa ;g cl 80 fdeh@?kaVk dh
pky ls pyrh gSA 290 fdeh dh nwjh r; djus ds fy,
cl }kjk fy;k x;k le; Kkr dhft,A

SSC CPO 10/11/2022 (Shift-03)

(a) 4 hours (b) 3.5 hours
(c) 3 hours (d) 2.5 hours

72. The ratio of the lengths of trains A and B is
2:3 and their speeds are 60 km/h and 72 km/
h, respectively. Trains A and B cross each
other completely in 15 seconds, when
travelling in opposite directions. How much
time (in seconds) will train B take to cross a
370 m long bridge completely?

Vªsuksa A vkSj B dh yackbZ dk vuqikr 2%3 gS vkSj mudh
xfr Øe'k% 60 fdeh@?kaVk vkSj 72 fdeh@?kaVk gSA foijhr
fn'kkvksa esa ;k=kk djrs le; Vªsu A vkSj B ,d nwljs dks
iwjh rjg ls 15 lsdaM esa ikj djrh gSaA Vªsu B dks 370
ehVj yacs iqy dks iwjh rjg ls ikj djus esa fdruk le;
(lsdaM esa) yxsxk\

CRPF HCM 22/02/2023 (Shift - 02)

(a) 27 (b) 35
(c) 30 (d) 32

73. A person travelled one-fourth of his journey at
30 km/h, another one-fourth of his journey at
36 km/h and the rest at y km/h. If his average

speed for the whole journey is 
7

37
29

, then the

value of y is:
,d O;fÙkQ us viuh ;k=kk dk ,d&pkSFkkbZ Hkkx 30 fdeh@?kaVk
dh xfr ls r; fd;k] vU; ,d&pkSFkkbZ ;k=kk 36 fdeh@?kaVk dh
xfr ls vkSj 'ks"k ;k=kk y fdeh@?kaVk dh xfr ls r; dhA ;fn

iwjh ;k=kk esa mldh vkSlr xfr 
7

37
29

 gS] rks y dk eku gS%

CRPF HCM 23/02/2023 (Shift - 02)

(a) 38 (b) 40
(c) 45 (d) 43.2

74. Kamal started his road trip in his car and
moved at a constant speed of 75 kmph. After
completing x% of his total journey, his car
started malfunctioning, and therefore, he had
to complete his journey at half of his normal
speed. What is the average speed (in kmph) of
Kamal's whole journey, in terms of x?

dey us viuh dkj esa viuh lM+d ;k=kk 'kq: dh vkSj 75
fdeh çfr ?kaVs dh fLFkj xfr ls pykA viuh dqy ;k=kk dk
x» iwjk djus ds ckn] mldh dkj •jkc gksus yxh] vkSj
blfy,] mls viuh ;k=kk dks viuh lkekU; xfr ds vk/h
xfr ls iwjk djuk iM+kA x ds lanHkZ esa dey dh iwjh ;k=kk
dh vkSlr xfr (fdeh çfr ?kaVs esa) D;k gS\

CRPF HCM 27/02/2023 (Shift - 03)

(a)
7500

100 + x
(b)

7500

100 – x

(c)
7500

300 – x
(d)

7500

200 – x
75. A man covers a certain distance at a certain

speed. Had he moved 8 km/h faster, he would
have taken 4 hours less. If he had moved 7 km/
h slower, he would have taken 7 hours more.
What is the usual speed (in km/h) of the man?

,d vkneh ,d fuf'pr nwjh dks ,d fuf'pr xfr ls r;
djrk gSA ;fn og 8 fdeh@?kaVk rsth ls pyrk] rks mls 4
?kaVs de yxrsA ;fn og 7 fdeh@?kaVk /heh xfr ls pyrk]
rks mls 7 ?kaVs vf/d yxrsA vkneh dh lkekU; xfr
(fdeh@?kaVk esa) D;k gS\

CRPF HCM 28/02/2023 (Shift - 03)

(a) 20 (b) 24
(c) 22 (d) 28

76. A man travels from a place A to place B at x
km/h and returns to A by increasing his speed
by 20%. His average speed for the whole

journey is 
7

163
11

km/h. How much time (in

hours) will he take to travel 294 km at a speed
of 1.4 x km/h?

,d O;fÙkQ ,d LFkku A ls LFkku B rd x fdeh@?kaVk dh
xfr ls ;k=kk djrk gS vkSj viuh xfr dks 20» c<+kdj A

ij okil vkrk gSA iwjh ;k=kk esa mldh vkSlr xfr 
7

163
11

fdeh@?kaVk gSA og 1-4 x fdeh@?kaVk dh xfr ls 294 fdeh
dh ;k=kk djus esa fdruk le; (?kaVksa esa) ysxk\

CRPF HCM 11/03/2023 (Shift - 02)

(a)
1

1
3

(b)
3

1
4

(c)
2

1
5

(d)
2

1
9
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77. A car left 60 minutes early than the scheduled
time but in order to reach its destination 280
km away in time, it has to slow its usual speed
by 14 km/hr. What is the usual speed of the
car?

,d dkj fu/kZfjr le; ls 60 feuV igys fudy tkrh gS
ysfdu 280 fd-eh- nwj vius xarO; rd le; ij igq¡pus ds
fy, mls viuh lkekU; pky 14 fd-eh-@?kaVk /heh djuh
iM+rh gSA dkj dh lkekU; pky D;k gS\

SSC CHSL 09/03/2023 (Shift-03)

(a) 77 km/hr (b) 70 km/hr

(c) 66 km/hr (d) 63 km/hr

78. Ram needs to reach the examination center in 6
hours, the journey itseif is 250 km. If Ram has
covered (3/5 )th of the distance in 3.5 hours then
what is the speed required to reach the destination
30 minutes early than the required time?

jke dks ijh{kk dsUnz rd 6 ?kaVs esa igq¡prk gS] ijh{kk dsUnz 250
fd-eh- dh nwjh ij gSA ;fn jke us bl nwjh dk (3@5) Hkkx
3-5 ?kaVs esa r; fd;k] rks fu;r le; ls 30 feuV igys ijh{kk
dsUnz igq¡pus ds fy, vko';d pky fdruh  gksuh pkfg,\

SSC CHSL 10/03/2023 (Shift-02)

(a) 50 km/hr (b) 90 km/hr

(c) 40 km/hr (d) 60  km/hr

79. Two places B1 and B2 are 500 km apart from
each other. Sonit and Robin start moving B1
towards B2 at the same time. After reaching
B2, they return back to B1. Speed of Sonit is
80 km/hr more than the Robin. If they meet
after 6 hours, then which of the following
statements is /are correct?

nks LFkku B1 vkSj B2 ,d&nwljs ls 500 fd-eh- nwj gSA lksfur
vkSj jkWfu ,d gh le; ij B1 ls B2 dh vksj xfr djuk
'kq: djrs gSaA B2 ij igq¡pus ds ckn os okil B1 ij ykSV
vkrs gSaA lksfur dh pky jkWfcu ls 80 fd-eh-@?kaVk vf/d gSA
;fn os 6 ?kaVs ds ckn feyrs gSa] rks fuEuyf[kr esa ls dkSu&lk@ls
dFku lgh gS@gSa\

I. Distance covered by Sonit is 600 km.

lksfur }kjk r; dh xbZ nwjh 600 fd-eh- gSA

II. Speed of Robin is 120/3 km/hr.

jkWfcu dh pky 120/3 fd-eh-@?kaVk gSA

SSC CHSL 10/03/2023 (Shift-04)

(a) Only I

(b) Only II

(c) Neither I nor II

(d) Both I and II

80. A man makes four trips of equal distances. His
speed on first trip was 720 km/hr and in each
subsequent trip his speed was half of the
previous trip. What is the average speed of the
man in these four trips ?

,d vkneh leku nwjh dh pkj ;k=kk,¡ djrk gSA igyh ;k=kk esa
mldh pky 720 fdeh-@?kaVk Fkh vkSj ckn dh izR;sd ;k=kk esaa
mldh pky fiNyh ;k=kk ls vk/h FkhA bu pkjksa ;k=kkvksa esa
vkneh dh vkSlr pky D;k gS\

SSC CHSL 14/03/2023 (Shift-04)

(a) 104 km/hr (b) 156 km/hr

(c) 192 km/hr (d) 288 km/hr

ANSWER KEY

1.(b) 2.(c) 3.(d) 4.(d) 5.(c) 6.(a) 7.(a) 8.(b) 9.(c) 10.(b)

11.(d) 12.(d) 13.(d) 14.(b) 15.(a) 16.(d) 17.(b) 18.(b) 19.(c) 20.(d)

21.(c) 22.(a) 23.(b) 24.(a) 25.(a) 26.(d) 27.(d) 28.(d) 29.(b) 30.(a)

31.(c) 32.(c) 33.(b) 34.(d) 35.(d) 36.(d) 37.(d) 38.(a) 39.(c) 40.(c)

41.(a) 42.(a) 43.(d) 44.(a) 45.(b) 46.(a) 47.(b) 48.(b) 49.(b) 50.(b)

51.(b) 52.(c) 53.(a) 54.(a) 55.(b) 56.(c) 57.(c) 58.(d) 59.(b) 60.(d)

61.(a) 62.(b) 63.(c) 64.(c) 65.(d) 66.(c) 67.(d) 68.(b) 69.(a) 70.(d)

71.(b) 72.(b) 73.(d) 74.(d) 75.(c) 76.(c) 77.(b) 78.(a) 79.(c) 80.(b)
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SOLUTION
1. (b)

Speed = 
600 m

5 min

= 
600 60 km

1000 5 h





= 7.2 km/h
2. (c)

Speed of a Car = 
35

km /h
1

If it increased 2 km after every one hour
(I) Distance covered in 12 hours = 35 + 37 + 39

+ 41 + 43 + 45 + 47 + 48 + 51 + 53 + 55 + 57

=  
12

35 57
2



= 552 km
3. (d)

 Distance = same

1
Speed

time


S1  :  S2
3    :   4
4    :   3  Time

(1) = 20 + 30
(1) = 50 minutes
(4) = 200 minutes

Distance between office and house

= 
3km 200

h
h 60



= 10 km
4. (d)

Speed = 5 km/h

 60 minutes = 5000 m

15 minutes = 
5000

15 1250m
60

 

5. (c)

Average speed = 
2 25 4

29

 

 t = 5 hours 48 minutes = 
29

hours
5

Total Distance = 
8 25 29

29 5


 = 40 km

Distance of post-office from village

= 
40

20km
2



6. (a)

When he travels 90 km by taxi = 90 × 7

= Rs 630

when he travels 90 km by car = 90 × 6

= Rs 540

Taxi Car

630 540

595

55        :          35

 55 + 35 = 90

So he travels 55 km by taxi

7. (a)

 Distance constant

40  :  35
35   :   40
7    :    8  

Time

Speed

(1) – 15 minutes

(8) = 120 minutes = 2 hours

Distance = 35 × 2 = 70 km

8. (b)

Let speed of train = x km/h

ATQ, (x + 3) × 36 = (x + 6) × 30

x = 12 km/h

Length of train

= 15 × 
5

36
18

 = 150m

9. (c)

Distance constant

Speed =  1 : 3

n : 3n

2 n 3n
12

n 3n

 




n = 8 km/h

10. (b)

Speed of thief = 40 km/h

1

2
hours, thief covers distance = 20 km

Time taken by owner = 
20 20

2hours
50 – 40 10

 
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11. (d)

They covered distance in 10 minutes

Relative speed = 12 – 9 = 3 km/h

Distance = 
5

3 10 60 m
18

    = 500 m

Remaining distance between them after 10
minutes = 800 – 500 = 300 m

12. (d)

Time when thief is caught by policeman

=  

1800
seconds

5
12 9

18


= 120 × 18 seconds

The thief covered the distance in (120 × 18)

seconds = 
5

9
18

 ×120×18 = 5400 m

13. (d)

Relative speed = 23 – 21 = 2 m/sec

Policeman takes time to catch the thief

= 
97

2
 = 48.5 sec

14. (b)

L.C.M = 30, 25, 20 = 300

Let the three equal distance = 300 km

T
1
 = 

300
10 hours

30


T
2
 = 

300
12 hours

25


T
3
 = 

300
15 hours

20


Average speed = 
Total distance

Total Time

= 
3 300

10 12 15



 
= 24.32 km/h

15. (a)

Time = 
30

45
= 40 minutes = 

2
hours

3

Distace 51 × 1 hour 20 minutes

51 × 
4

68 km
3



Average speed =   
Total distance

Total Time


30 68

49 km /h
2 4

3 3






16. (d)

Car covered total distance at speed 50 km/h
= (5+2) × 50

= 350 km

Car covered the total distance at speed 50 km/
h = 5 × 58 = 290 km

Speed = 
350 290 60

30km /h
2 2


 

17. (b)

Nidhi covers the distance in 6 hours

= 32.6 × 6

= 195.6 km

Nidhi covers the distance in 8 hours

= 11.6 × 8

= 92.8 km

Average Speed = 

Total distance

Total time

= 
195.6 92.8

6 8






288.4

20.6km /h
14



18. (b)

Distance in one hour = 50 km

Distance in 3 hours = 3 × 60 = 180 km

Average speed = 

Total distance

Total time

= 
50 180 230

1 3 4





= 57.5 km/h

19. (c)

Distance in 40 minutes = 
40 160

40 km
60 6

 

Distance in 50 minutes = 
45 225

50 km
60 6

 

Distance in 90 minutes = 
60 540

90 km
60 6

 

Average speed = 
 

160 225 540
km6 6 6

40 50 90 min utes

 

 

= 
925 60 km

6 180 h




 = 

7 km
51

18 h
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20. (d)

AB : BC : CD = 1     :    2    :   3

                    = 600 : 1200 : 1800

1

600
T 15 hours

40
 

2

2 600
T 24 hours

50


 

3

3 600
T 30 hours

60


 

4

6 600
T hours

n




480 600 12

360013
15 24 30

n




  

3600
69 195

n
 

3600
126

n


n = 
3600

126

200 4
n 28 km /h

7 7
 

21. (c)

Walk

5

8

2

Time  :

:

12

3

17

Auto

25

 (2 + 3) = (5) = 10

Time taken by Auto (3) = 6 hours

Distance covered by Auto  25 × 6 = 150 km.

22. (a)

P Q R(1) (2)

km/h. km/h. 3

 Q = 2PQ

Time of PQ 


1
 

   "    " QR   

2
 
3

  "   "  RP   



 

1 2 6
 =

2

Avg. Speed  
 

 
  

Total distance 1 2 3
= =

1 2 6Total time

3

  

 

6 3 18 km
= =

(3 2 18) 23 h

23. (b)

1 1
,  ,  40, 30

2 3

Let total distance  3600 km.

1

2
 distance  1800 km.

1

1800
T   

40
 = 45 hours

1

3
 distance  1200 km.

2

1200
T   

30
 = 40 hours

Remaining distance  3600 – 1800 – 1200

 600 km.

3

600
T   

60
 = 10 hours

Avg. speed 
Total distance

 
Total time

 
 

3600 3600 17
  = 37 km/h.
45 40 10 95 19

24. (a)

Let Total distance = 60 km

1

60
T = = 1 hour

60

2

30
T = = 3 hour

10

 3

30
T = = 1 hour

30

Avg. speed 


 

60 2
=

1 3 1
 = 24 km/hr
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25. (a)

Let the actual value of speed = x km/h.



300 300
– = 5

10x x

By hit and trial

x = 20 km/h

x + 10 = 30 km/h

Avg. speed 
   



2 20 30 2 20 30
= =

20 30 50

= 24 km/h

26. (d)

Let, side of triangle = 84 km

Average speed = 
Totaldist.

Total time

= 
3 84

84 84 84

14 28 12



 

= 
84 3

6 3 7



 
 = 

84 3

16


= 15.75 km/hr.

27. (d)

S
A
 = 5 + S

B

Relative speed = S
A
 + S

B
 = 5 + 2S

B

 B

3
5 2

2
S  = 250 – 31

2S
B
 = 

219 2
5

3




S
B
 = 

141

2

2
A BS S

= 

151 141

2 2
2


 = 

292

4
 = 73 km/hr

28. (d)

Normal Speed = 75 km/hr

New Speed = 
75

2
km/hr

Let total dist. = 100 km

Average Speed = 
100

100

7575

2

x x


 = 

100

200 2

75 75

x x


Average speed = 
7500

200 x

29. (b)

In one hour

Distance travelled excluding stoppages = 60 km

Distance travelled including stoppages = 40
km

Difference in distance = 60 – 40 = 20 km

Because of stoppage 20 km less travelled

So stoppage time per hour = 
20 1

hours
60 3



= 20 minutes

30. (a)

Speed of train, excluded stoppages = 50 km/
h

Speed of train, included stoppages = 40 km/h

Train travels distance per hour = 50 – 40 = 10
km

 Time = 
10

50
= 12 minutes

For hour stoppage of train = 12 minutes

31. (c)

Required time =

Speed without stoppage-  

Speed with stoppage
60

Speed without stopage


= 
120 80

60
120


 = 20 min/hr

32. (c)

Required time = 
90 75

60
90


 = 10

min/hr.

33. (b)

If X started travelled 3 hours earlier, he covers
distance = 3 × 40 = 120 km

Speed of Y = 60 km/h

Taken time, when X ahead 30 km from Y

120 – 30
4.5hours

60 – 40
 

Taken time, when Y ahead 30 km from X

120 30
7.5hours

60 – 40


 

Difference in time= 7.5 – 4.5 = 3 hours

34. (d)

Relative speed = 
3 1

5 4
4 2

 = 
1

1 km /h
4

Distance = 
1 1

1 3
4 2

 = 
5 7

4 2
 = 

3
4 km

8
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35. (d)

He counts telephone post in one minutes = 41

Distance between two telephone post = 50 m

41 telephone post,

So difference 40

total distance = 40 × 50 m

Speed = 
40 50 m

1 min utes


= 

40 50 18 km

60 5 h




= 120 km/h

36. (d)

Taken time by car = 
240

4 hours
60



Taken time by train = 
400

4hours
100



Taken time by bus = 
200

4 hours
50



Average speed = 
Total Dis tance

Total Time

=
240 400 200 840

70km /h
4 4 4 12

 
 

 

37. (d)

 Speed constant

Speed = 
Distance

Time

Distance  Time

60%  :  40%
 3      :   2
 3      :   2  Time

Distance



(1) = 20 minutes

Time(3+2) = 20 × 5

         = 100 minutes

  Distance = 48 × 
100

60
= 80km

38. (a)

When a bus start from terminal at 20 km/h,
it covered distance in 10 minutes

Distance = 
20 20

10 km
60 6

 

Let speed of man = n km/h

(n+20) = 
2 0

6 0
6 8




n + 20 = 25

n = 5 km/h

39. (c)

Distance constant

1
Speed

Time


10   :  15
 2    :   3
 3    :   2  Time

Speed 



(1) = 2 hours

(3) = 3 × 2 = 6 hours

Distance = 6 × 10 = 60 km

If he takes 6 hours, he reaches at 2 p.m

If he reaches at 1 p.m , he takes = 6 – 1 = 5
hours

Speed = 
60

12km /h
5



40. (c)

 Distance constant

1
Speed

Time


10   :  9
 9    :  10
   

Time

Speed 

(1)



 10 = 22 hours

Difference (1) = 2.2 hours

41. (a)

Bike

Speed 

Van Lorry: :

3 5 2: :

Speed of Lorry (2) = 
360

km /h
12

(1) = 15 km/h

 Average speed of bike and van = 
3 5

4
2




 (1) = 15

(4) = 60 km/h

42. (a)

Distance 
2

3 3
3

 = 11 km

Speed of cycle 
11

km /h
11

1 km/h

43. (d)

After every 11 km, he rests for 8 min

So 84 km travels, he rests 7 times

7 × 8 = 56 minutes
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Time 
84

42
= 2 hours = 120 minutes

So 84 km distance covers in (120 + 55) = 176
minutes

44. (a)

Actual time takes 
420

7 hours
60

 

time, takes included breaks = 8 hours
Difference  = 8 – 7 = 60 minutes
Short break   :  long break

        1      :      3
(1 + 3) = 60

 (1 + 3) = 60
long break (3) = 45 minutes

45. (b)

Foot bicycle

5 10

8          :            1

50
 9

 (8 + 1) = 9 hours
    (1) = 1 hours
from bicycle, in one hour at speed 10 km/h
he covers distance by bicycle  10 km

46. (a)
Let time = t hr
56 × t – 40 × t = 870
16t = 870

t = 
870

hr
16

Distance = 
870

56
16

 = 3045 km

47. (b)
P starts travelling 1 hour after 9 : 00 am
So P starts his journey from 10 : 00 am
P covered distance in 1 hour = 25 km
Relative speed = 25 + 18
= 43 km/h

Time = 
215

5 hours
43



25 km

P Q

215

240

They will meet 4 : 00 pm, 5 hours after

11 : 00 am

48. (b)

In one day train covered distance at 60 km/h
= 66 × 24

= 1584 km

Covered the distance when its included
stoppages = 1485

For stoppages it is moving = 99 km

Takes time to covers 99 km

 
99

1.5 hours
66

 

  5 stoppages

Time taken for each stoppage

= 
1.5

=18 minutes
5

49. (b)

S
1
 : S

2
 = 9 : 7

 
4 2

28 %
7 7



 
21

2 1

tS

S t


9 P 9

7 49




81 9P

49 49


P = 9 hours

50. (b)

 6  :  7
   

Time

Speed 

 7  :  6

(1) = 32 + 18 = 50
(6) = 300 minutes = 5 hours

At 5 hours from 7 km/h, covered distance =
5 × 7 = 35 km

Twice distance = 35 × 2 = 70 km

51. (b)

Distance constant

 4   :  5
    Time

Speed 

 5   :  4

(1) = 15 minutes
     = 75 minutesActual time (5)

� 25% = 
1

4

Speed       5    :   3         
2

40%
5



Time       3  :  5

 Actual Time (3) = 75 minutes
            (5 – 3 ) = 50 minutes
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52. (c)

Time, when these tains cross each other

= 
Total distance

Average Speed

=  

450 300 300 1050
14 seconds

5 75
162 108

18

 
 

  

53. (a)

Length of faster train = x m

Length of slower train = y m

(x + y) = (63 + 72) ×
5

12
18

   = 450 m

Length of faster train (x) = (72 – 63) × 
5

48
18



= 120 m

Length of slower train (y) = 450 – 120 = 330
m

difference between the length of the train

= 330 – 120 = 210 m

54. (a)

40 40
– 2

A B
 ............(i)

80 80 3
–

2A B 2
 ............(ii)

Solve (i) & (ii)

(i) – (ii)

40 1
B 80

B 2
  

Time = 
90

80
 =

1
1 hr

8

55. (b)

d

O C

A Ba

a

d2 = a2 + a2 = 2a2

When he is walking along with

diagonally, cover the distance


5

3 5 60
18

   = 250 m

Area of square = 
21 1

a 250 250
2 2
   

31250 m

56. (c)

21

2 1

tS

S t


1S 8 8

16.8 49




S
1
 = 19.2 km/h

57. (c)

Let speed = x km/h

   x x 3 x x 22 2

3 3 2 3

 
  

2x + 6 = 3x –6

x = 12

Distance = 
12 15 2

3 3


 = 40 km

58. (d)

66.66% = 
2

3

Speed of A     3  :  5
      Time       5  :  3

(2) = 3 + 5 = 8 hours
(5) = 20 hoursActual time of A




Actual time of B = 20 – 3 = 17 hours

But B covers twice distance = 17 × 2 = 34
hours

59. (b)

Speed of A, B, C  are in A.P.

B = 
A C 20 30

25min
2 2

 
 

60. (d)

Let the total distance = 100 km

Speed of bus = 
60

2
= 30 km/h

Speed of Car = 
10

40 km /h
1



Ratio bus : Car = 30   :  40

                   =  3   :    4

61. (a)

Let the speed of bus = x km/h

 
30 36

9
60 60

   x x

x = 54 km/h
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62. (b)

Let the total distance = 130 × 12 = 1560 km

time = 
1560

12 hours
130

 

75% distance covered in 
2

3
of time

So 25% distance covered in 
1

3
of time

Speed (n) = 

1560 25% 390

1 4
12

3






n 390 195
48.75 km /h

2 4 2 4
  



63. (c)

Delhi Chandigarh Shimla

300

3x

Distance 

Speed 

400

4x

Total time 



300 400 100

 =
49 7

 hours


300 400 100

=
3 2 7x x

x = 21 km/h

Avg. speed from Chandigarh to Shimla

(2x) = 2 × 21  = 42 km/h

64. (c)

Speed of Car = 72 km/h.

Distance covered by Car in 18 seconds

72 5
= 18 = 360 m

18




 1 to 10 pillars, gap = 9
So, Distance between two pillars

360
= = 40 m

9

Gap between 10th pillars to 31st pillars = 21
Distance = 21 × 40 = 840 m

65. (d)

Office

3pm

40km/h.

18km/h.
Home

The boy picks his girlfriend at 5:00 pm. Every
day one day his girlfriend left the office at
03:00 pm. and starts walking

 They both reached home 40 min. earlier
from usual time minutes meets his girlfriend
at 4:40 pm.

Time  3pm to 4:40 pm. 
5

 
3

 hours

Girls. covers distance 
40 5 200

= =
3 3

 km

200

3
 km distance boy covered in 20 minutes

Speed of boy 200 60
= km/h

3 20




  = 200 km/h

66. (c)

ABC

In the above figure, the train travels from

A to B in 11 : 30 minutes.

Suppose, you denote the time at which the

first gunshot is heard as t = 0. Also, if you

consider the travel of the sound of the second

the gunshot is head at point B at t = 11 : 30

minutes. Also, the second gunshot should

reach point B at t = 12 minutes. Hence, the

sound of the 2nd gunshot would take seconds

to travel from B to A.

Thus, 
train sound

sound train

S t

S t


train

30 330
S 330 m/s.

690 23
  

67. (d)

In 6 minutes, the car goes ahead by 0.6

km. Hence, the relative speed of the car with

respect to the pedestrian is equal to 6 km/

h, since, the pedestrian is walking at 2 kmph,

hence the net speed is 8 km/ph.

68. (b)

Given that, the Bus is 30 km ahead of car

and after 3 hour the car is ahead of 60km

Speed of Bus = 42 km/hr

Let the speed of car = x km/hr

Speed of car = 
Distance

Time Taken

90
42

3

30 42 72 km/hr

x –

x

 

   
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69. (a)

Average speed = 
Total Distacne

Total Time
=

100 140

100 140

50 70




=

60 km/h

70. (d)

Average Speed = 
2 60 40

60 40

 


 = 48 km/h

71.  (b)

Speed Time Distance

1
100km/h h 50km

2

Remaining

Distance240
80km/h =3h

=290–5080

=240km

Total Time = 0.5 + 3 = 3.5 hours

72. (b)

A B

Length 2 3

Speed 60 72

ATQ,

Relative speed = 72 + 60

= 132 km/hr.

D = S × T


5

132 15
18

  = 5x

 x = 110

Length of B = 330 m

Required time= 
 370 330

18
72 5






=  
700 18

72 5




 = 35 sec.

73. (d)

Let total distance be 16 km

Average speed = 
Total distance

Total time

 
16 1080

4 4 8 29

30 36 y



 


16 29 2 1 8

1080 15 9 y


  

16 29 18 15 8 135

1080 135

y y

y

   


58 33 1080

135 135

y

y




25 y = 1080

y = 
216

5
= 43.2

74. (d)

Normal Speed = 75 km/hr

New Speed = 
75

2
km/hr

Let total dist. = 100 km

Average Speed = 
100

100

7575

2

x x


= 
100

200 2

75 75

x x


Average speed = 
7500

200 x

75. (c)

We know,

1 2

1 2

S S
t d

S S


 




 8

4
8

x

x x




 
 = 

 
 

7
7

7

x x

x x




 

 
   

8
7

2

x
x


 

 x + 8 = 2x – 14

x = 22 km/hr

76. (c)

Let, distance be d

 
1800

11
= 

2

100

120

d

d d

x x




= 
2 120

120 100

d x

d d





1800

11
= 

12

11

x

x = 150

 t = 
294

1 4 150. 

t = 
294

210
 = 

7

5
 = 1

2

5
hr
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77. (b)

280 280
= 60min = 1hrs

14
–

x – x

Where x = value speed

(AB) Option – value of x

(A) = 
280 280

77 14 77
–

–

(B) = 
280 280 280

4
70 14 70 56

– –
–



= 5 – 4 = 1 hrs

78. (a)

Distance = 250 km

Time = 6hr.

But 
3

5
 of distance covered by 3.5 hrs So, 

2

5

of distance covers in 2 hrs because he wants
to reach at distination 30 mins earlier from
required time.

2
250

5
 = 100 km/h

Speed =
100

2
= 50 km/h

79. (c)

B1 B2

500km

By given condition

Speed of Robin = 
120

3
= 40 km/h

So,

Speed of Sonit = (40 + 80) = 120

(i) Assume time = 
500

120 40( – )    6

(ii) Sonit cover distance

   = 120 × 6 600 Neither (i) nor (ii)

80. (b)

Let the each distance = 720 km

I. 720 km total time = 
720

720
= 1 hr

II. 720 km total time = 
720

360
= 2 hrs

III. 720 km total time = 
720

180
= 4hrs

IV. 720 km total time = 
720

90
= 8hrs

Average speed = 
Total distance

Total time

= 
720 720 720 720

1 2 4 8

  

  

= 
720 4

15


= 192 km/h
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